One Piece Footrest - Non-Adjustable
95




One Piece Footrest - Non-Adjustable

95
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 A 1017528-NLA | NLA - Mat Footboard 1 1
1 B 1016951-NLA | NLA - Mat Footboard 1 1
1 C 1016952-NLA | NLA - Mat Footboard 1 1
2 18860X005-NLA | NLA - Screw, Phillips Oval Head (#10-32 x 1-1/2") 1 1
3 11008X002-NLA | NLA - Screw, Phillips Oval Head (#10-32 x 1-1/4") 1 3
4 A [48247X011-NLA | NLA - Footboard w/o Hardware 1 1
4 B |48247X012-NLA | NLA - Footboard w/o Hardware 1 1
4 C |48247X013-NLA | NLA - Footboard w/o Hardware 1 1
5 47352X004 Clamp, Black 1 2
6 04470X052-NLA | NLA - Tube, Pivot - Right 1 1
7 04470X053-NLA | NLA - Tube, Pivot - Left 1 1
8 1107321 Nut, Low Cap (5/16"-24) 1 2
9 11232X009 Bolt, Lug (5/16-24 x 1-3/8") 1 2
10 16347X000-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 3
11 47559X030-NLA | NLA - Link, Locking, Chrome 1 1
12 60279X003 Locknut (#10-32) 1 4
13 47352X003 Lock, Pad Plate, Legrest, Black 1 1
14 40120X001 Screw, Phillips Pan Head (#8-32 x 3/8") 1 2
15 1016346 Cap, End, Tube, Black (7/8") 1 2
16 A 1017530-NLA | NLA - Footrest Assembly, One Piece 1 1
Non-Adjustable, Chrome
16 B 1016955-NLA | NLA - Footrest Assembly, One Piece 1 1
Non-Adjustable, Chrome
16 C 1016956 Footrest Assembly, One Piece Non-Adjustable, 1 1

Chrome

NOTE: A -12"Wide Chairs
B - 14" Wide Chairs
C - 16" Wide Chairs




